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SARDAR PATEL UNIVERSITY
SY BA (External) Examination
Monday, 15™ April, 2019
2.00 pm - 5.00 pm
ECO0-204 - Economics {Prin. & Sub.)- IV
(Agricultural Economics)

Total Marks : 100

Notes: All questions carry equal marks.
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Describe the importance of Agricuiture in India.
OR

Explain the impact of 'World Trade Organisation” (WTO) on Indian
Agriculture.

What is Agricultural Labour ? State in detail the problems of
Agriculturai Labour in India.

OR

Explain the Main features of New Agricultural Policy in India.

Explain the various methods of Agricultural Marketing and explain
the various defects (problems) of Agricultural Marketing in India.

OR

What is Economic holding ? Exbiain the types of Land holding and
explain the causes of the Small Land holding in India.

Write in detail the remedies to increase the Agricultural Productivity
in India. '

OR

What is Green Revolution ? State the achaevements and limitations
of Green Revolution in India.

Explain the meaning of Agricultural Mechanization and explain the

argument in favour and against of Agricultural Mechamzatlon in

India.
OR

State the objectives of Land Re-forms in india and write the causes
of failure of Land Re-forms.
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